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QUESTION 1

You are developing a polyglot serverless application using Oracle Functions. Which language cannot be used to write
your function code? 

A. PL/SQL 

B. Python 

C. Node.js 

D. Java 

Correct Answer: A 

The serverless and elastic architecture of Oracle Functions means there\\'s no infrastructure administration or software
administration for you to perform. You don\\'t provision or maintain compute instances, and operating system software
patches and upgrades are applied automatically. Oracle Functions simply ensures your app is highly-available, scalable,
secure, and monitored. With Oracle Functions, you can write code in Java, Python, Node, Go, and Ruby (and for
advanced use cases, bring your own Dockerfile, and Graal VM). You can then deploy your code, call it directly or trigger
it in response to events, and get billed only for the resources consumed during the execution. 

 

QUESTION 2

Which two statements accurately describe Oracle SQL Developer Web on Oracle Cloud Infrastructure (OCI)
Autonomous Database? 

A. It is available for databases with dedicated Exadata infrastructure only. 

B. After provisioning into an OCI compute Instance, it can automatically connect to the OCI Autonomous Databases
instances. 

C. It is available for databases with both dedicated and shared Exadata infrastructure. 

D. It provides a development environment and a data modeler interface for OCI Autonomous Databases. 

E. It must be enabled via OCI Identity and Access Management policy to get access to the Autonomous Databases
instances. 

Correct Answer: AD 

Oracle SQL Developer Web in Autonomous Data Warehouse provides a development environment and a data modeler
interface for Autonomous Databases. SQL Developer Web is available for databases with both dedicated Exadata
infrastructure and shared Exadata infrastructure.
https://docs.cloud.oracle.com/enus/iaas/Content/Database/Tasks/adbtools.htm 

 

QUESTION 3

You are using Oracle Cloud Infrastructure (0CI) Resource Manager to manage your infrastructure lifecycle and wish to
receive an email each time a Terraform action begins. How should you use the OCI Events service to do this without
writing any code? 

1Z0-1084-20 PDF Dumps | 1Z0-1084-20 VCE Dumps | 1Z0-1084-20 Study Guide                                2 / 5

https://www.passapply.com/1z0-1084-20.html
https://www.passapply.com/1z0-1084-20.html
https://www.passapply.com/1z0-1084-20.html


https://www.passapply.com/1z0-1084-20.html
2024 Latest passapply 1Z0-1084-20 PDF and VCE dumps Download

A. Create an OCI Notifications topic and email subscription with the destination email address. Then create an OCI
Events rule matching "Resource Manager Stack - Update" condition, and select the notification topic for the
corresponding action. 

B. Create an OCI Notification topic and email subscription with the destination email address. Then create an OCI
Events rule matching "Resource Manager job - Create" condition, and select the notification topic for the corresponding
action. 

C. Create a rule in OCI Events service matching the "Resource Manager Stack - Update" condition.Then select "Action
Type: Email" and provide the destination email address. 

D. Create an OCI Email Delivery configuration with the destination email address. Then create an OCI Events rule
matching "Resource Manager Job - Create" condition, and select the email configuration for the corresponding action. 

Correct Answer: B 

1.

 Create Notifications Topic and Subscription If a suitable Notifications topic doesn\\'t already exist, then you must log in
to the Console as a tenancy administrator and create it. Whether you use an existing topic or create a new one, add an
email address as a subscription so that you can monitor that email account for notifications 

2.

 Using the Console to Create a Rule Use the Console to create a rule with a pattern that matches bucket creation
events emitted by Object Storage. Specify the Notifications topic you created as an action to deliver matching events.
To test your rule, create a bucket. Object Storage emits an event which triggers the action. Check the email specified in
the subscription to receive your notification 

https://docs.cloud.oracle.com/en-us/iaas/Content/Events/Concepts/eventsgetstarted.htm
https://docs.cloud.oracle.com/en-us/iaas/Content/Events/Concepts/filterevents.htm 

 

QUESTION 4

Which two statements are true for serverless computing and serverless architectures? 

A. Long running tasks are perfectly suited for serverless 

B. Serverless function state should never be stored externally 

C. Application DevOps team is responsible for scaling 

D. Serverless function execution is fully managed by a third party 

E. Applications running on a FaaS (Functions as a Service) platform 

Correct Answer: BE 

Oracle Functions is a fully managed, multi-tenant, highly scalable, on-demand, Functions-as-a- Service platform. It is
built on enterprise-grade Oracle Cloud Infrastructure and powered by the Fn Project open source engine. Use Oracle
Functions (sometimes abbreviated to just Functions) when you want to focus on writing code to meet business needs.
The serverless and elastic architecture of Oracle Functions means there\\'s no infrastructure administration or software
administration for you to perform. You don\\'t provision or maintain compute instances, and operating system software
patches and upgrades are applied automatically. Oracle Functions simply ensures your app is highly-available, scalable,
secure, and monitored Applications built with a serverless infrastructure will scale automatically as the user base grows

1Z0-1084-20 PDF Dumps | 1Z0-1084-20 VCE Dumps | 1Z0-1084-20 Study Guide                                3 / 5

https://www.passapply.com/1z0-1084-20.html
https://www.passapply.com/1z0-1084-20.html
https://www.passapply.com/1z0-1084-20.html


https://www.passapply.com/1z0-1084-20.html
2024 Latest passapply 1Z0-1084-20 PDF and VCE dumps Download

or usage increases. If a function needs to be run in multiple instances, the vendor\\'s servers will start up, run, and end
them as they are needed. Oracle Functions is based on Fn Project. Fn Project is an open source, container native,
serverless platform that can be run anywhere - any cloud or on-premises. Serverless architectures are not built for long-
running processes. This limits the kinds of applications that can cost-effectively run in a serverless architecture.
Because serverless providers charge for the amount of time code is running, it may cost more to run an application with
long-running processes in a serverless infrastructure compared to a traditional one. 

https://docs.cloud.oracle.com/en-us/iaas/Content/Functions/Concepts/functionsconcepts.htm
https://www.cloudflare.com/learning/serverless/why-use-serverless/ 

 

QUESTION 5

Given a service deployed on Oracle Cloud infrastructure Container Engine for Kubernetes (OKE), which annotation
should you add in the sample manifest file to specify a 400 Mbps load balancer? 

A. service.beta, kubernetes. lo/oci-load-balancer-kind: 400Mbps 

B. service, beta, kubernetes. lo/oci-load-balancer-value: 4 00Mbps 

C. service . beta. kubernetes . lo/oci-load-balancer-shape: 400Mbps 

D. service . beta . kubernetes . lo/oci-load-balancer-size: 400Mbps 

Correct Answer: C 

The shape of an Oracle Cloud Infrastructure load balancer specifies its maximum total bandwidth (that is, 

ingress plus egress). By default, load balancers are created with a shape of 100Mbps. Other shapes are 

available, including 400Mbps and 8000Mbps. 

To specify an alternative shape for a load balancer, add the following annotation in the metadata section of 

the manifest file: 
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service.beta.kubernetes.io/oci-load-balancer-shape: where value is the bandwidth of the shape 

(for example, 100Mbps, 400Mbps, 8000Mbps). 

For example: 

apiVersion: v1 

kind: Service 

metadata: 

name: my-nginx-svc 

labels: 

app: nginx 

annotations: 

service.beta.kubernetes.io/oci-load-balancer-shape: 400Mbps spec: 

type: LoadBalancer 

ports: 

-port: 80 selector: app: nginx https://github.com/oracle/oci-cloud-controller-manager/blob/master/docs/load-balancer-
annotations.md 
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